[image: image1.png]6. The “norm” of a vector is a measure of it's “size” or “magnitude”. There
are many different ways to express the norm of a vector. These are referred
to as the L norm, and written ||7||; where k is a positive integer, or co.
Following are a few examples. Let @ be a vector in R whose entries are
V1, V2, e

The Ly norm of 7, ||
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The Lg norm of 7, ||

The L., norm of 5, |[5]|e = mesx(fogl) for k=1,2,..n




[image: image2.png]Each norm is a transformation, T : R* — R. It is also true that for any
norm, T(7) = ||| = 0 if and only it 7 = 0

1) Is cither the Ly norm or the Ly norm a linear transformation
your answer.

Support

2) Is cither the Ly norm or the Ly norm a one-to-one mapping?




